KENDRIYA VIDYALAYA SANGATHAN
(PATNA REGION)
SUMMATIVE ASSESSMENT-II, 2016

CLASS- IX TIME- 3 HOURS

SUBJECT- MATHEMATICS MAX. MARKS-90

GENERAL INSTRUCTIONS:-

1.

2.

6.

All questions are compulsory :

The question paper consists of 31 questions divided into five section A, B,

C,DandE.

. Section A consists of 4 questions of 1 mark each, section B consists of 6

questions of 2 marks each. Section C consists of 8 questions of 3 marks

each. Section D consists of 10 questions of 4 marks each.

. Section E (OTBA section) consists of three questions

(Q Nos. 29, 30, 31). Q Nos. 29 and 30 are of 3 marks each and Q No 31 is

of 4 marks.

. Questions of OTBA are based on two themes already provided to students.

Students must select only one theme for answering the questions of
section E (OTBA section).

Use of calculator is not permitted.
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Section A (@UYs H)

Q.1.Find the class mark of the class 160 — 165.

a3t 160 - 165 & g1 Reg fAehrel |

Q.2. Find the probability of an even numbers when we throw a die.

SIS Ueh OTY 1 thebl STl § ol HH HE&ATHT I IiAehdT & AT AT HAT |
Q.3. The mean of 10, 12, 16, 20, p and 26 is 17. Find the value of p.
33 10, 12, 16, 20, p 3R 26 &1 AT 17 § | p &7 #AA AT &Y |

Q.4. If the diagonals of rhombus are 16 cm and 12 cm, then find its area.

R GH IJHS & Aol S oFars 16 AA Td 12 @A § A 3HHT SAB AT Y |

Section B (@U3 9)

Q.5. Construct an angle 1050 and bisect it.
105° &I 10T FolTor 38 I &Y 1

Q.6. Find the slant height of a cone whose radius is 5 cm and height is 12 cm.

fornely o T Bisar 5 AT AR Fwrg 12 QA § ar 3geh ol S e |

Q.7. If the radius of the base of a cylinder is 7 cm and its height is 14 cm then find

its volume.

gfe Rt dofeT & 3muR & Bsar 7 aA § 3k 35 Fue 14 3 § O ST &7 3aA

SeTer |

Q.8. The floor of a rectangular hall has a perimeter 250 m. If the cost of painting the

four walls at the rate of Rs10 per m? is Rs15000.Find the height of the hall.

Teh AR AT el HT aRfATT 250 #1 & 1 g8 aRT fGart & 10 &0 ufd ot & &

e § WIS A & ol T 15000 I § of 36 el & Farg A Y |

Q.9. A conical pit of top diameter 3.5 m is 12 m deep. What is its capacity in kilo litres.

Teh APfAT Igel gt urd 3.5 A vd NS 12 Al g, IHRT &TAAT Fhel oflex & AT

Corgl

Q.10. Find the radius of a sphere whose surface area is 154 cm?2.

Th el T [T AT Y ST 3Fhl gsar &1 &iathel 154 A |
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Section C (@Us ¥H)

Q.11. Prove that a diagonal of a parallelogram divides it into two congruent triangles.
&g Y T el FAEER Tgels & Aol 38 &F gA%Y [F3er A diecd © |

Q.12. Prove that parallelograms on the same base between the same parallels are
equal in area.

e A fh Th @ IR 3N AR W | BT FAR Tdset &
9% SRIeX 8T & |
Q.13. In fig. AP II BQ II CR. Prove that
ar(AQC) = ar(PBR)

A P

o)

=

C R

fow a7 A A 3PN APIIBQIICR . &g & &
ar (AQC) = ar (PBR)

Q.14. Two circle of radius Scm and 3cm interest at two points and the distance
between their centres is 4cm. Find the length of common chord.

ar ga foraer Bear waer 5 4. dur 3 A, T gl @ & fAegI W Fed § aur 3Hh
Fofdeg @ gl 4 Q. T 17A fSar 7 ofars AT X |

Q.15. In the fig. <PQR = 1000°, where P, Q, R are points on a circle with centre O. Find
Z/0OPR Q

mooo

P
©)

feT a7t &7 A L PQR = 100°, Si@T f9=g31 P, Q, Rgd W 31afeyd ¢ fode &g fd=g O &

Q.16. Find the median of first ten prime numbers:

TUAH T2 AT TE&IATHT T ATTCIRT AT HY |
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Q.17. Find the mean of the data given below:

AT o 91T 3TREr & AT AT

Marks(3{%) 20 21 22 23 24 25
No.of
Students(eET  HY 4 > 3 6 3 7
HE)

Q.18. In a family of two children, find the probability of “at least one girl”.

T gRER & & JsfFAT 00 T FF Ta Jsah” S Giksdr AT ™

Section D (@Ys &)

Q.19. A village, having a population of 4000, requires 150 litres of water per head
per day. It has a tank measuring 20 m x 20 m x 6 m. For how many days will the
water of this tank last?

U Jg fa@dhr 3mardr 4000 &, 39 wia =afea sfafess 150 ex urelr $ir maegsane
g | T& gt $r hr Fger A 20 Hex x 20 HeX x 6 HeX § | AT HL T 3T
ThT &1 et fohasr feat & gHeT 8 Srer |

Q.20. Prove that line segment joining the mid points of two sides of a triangle is

parallel to the third side and half of it.

qrfed Y T fRdr Bersr &7 &Y ool & #eg foega & A arer 3@rgos deal
T & FAleTeeR 3T 3melr gl ¢ |

Q.21. ABCD is a rectangle and P, Q, R and S are the mid points of the sides AB, BC,
CD and DA respectively. Show that quadrilateral PQRS is a rhombus.

ABCD Teh 3 & 3R P, Q, R, S %S SV AB, BC, CD @l DA & HtY fd=g ¢ |

R 7 TqelsT PQRS U HH I3 ¢ 1
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Q.22. In the fig. ABCDE is a pentagon. A line through B parallel to AC meets DC
produced at F. Show that
(i) ar(ACB) = ar(ACF) A B

(ii) ar(AEDF) = ar(ABCDE) E

D C F

ABCDE T& YeHI0T & 1 Tsh 3@ fdeg B I T & Sl AC & FAMER dAT Tdd
DC & fdoq F R fAear & | fRwry &
(i) ar(ACB) = ar(ACF)
(ii) ar(AEDF) = ar(ABCDE)
Q.23. ABC and ADC are two right triangles with common hypotenuse AC. Prove that

<CAD = <CBD.
al AT AT ABC Ud ADC &I FAE fashol ACE | g Y &

<CAD = <CBD.

Q.24. Construct a triangle XYZ in which <Y=30°, <Z=900 and XY+YZ+ZX=11 cm.
Teh TS 1 Tl A @R <Y=300, <2=90031R XY+YZ+ZX=11 A.AT .

Q.25. A well for a common people is dug out by a farmer Itwari in a village. How many
cubic meters of earth must be dug out to sink a well of 22.5 m deep and of 7 m
diameter? Also, find the cost of plastering the inner curved surface at Rs 3 per
square metre. Write a value depicted by the farmer Itwari.

fohaTsl Sary AT FAT RN & T IS G A TH FIT Gedr § 1 22.5 A
ST Td 7 HY A arl H A vl Fgeeh A ALY foerer g | 3 e9d wi gt A
$r T T 3dRF Tdg T Takel A A fordear @I J9m Aa Y IR saary
SRT 2T Hedl 1 fog|

Q.26. The circumference of base of a cone is 220/7 cm and its slant height is 13 cm.
Find the volume of cone.

T % & IAUR HT IR 220/7 QA § o1 sqehr fade =g 13 .l § 156 %
F AT AT it |
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Q.27. The following table gives the life times of 400 neon lamps:

fAefafEa arfesr 400 e 9 &1 3y geffar ¢ |

Life Time(In hours) 311'2_; (geY A) No. of Lamps (elFaY Fr FEm)
300-400 14
400-500 56
500-600 60
600-700 86
700-800 74
800-900 62
900-1000 48

Represent the given information with the help of a histogram.
R T FIT P R A qel |
(i) How many lamps have a life time of more the 700 hours?
forcer ofdr T 3mg 700 ©er § AT § ?

Q.28. 50 seeds were selected at random from each of 5 bags of seeds, and were kept
under standardised conditions favourable to germination. After 20 days, the
number of seeds which had germinated in each collection were counted and
recorded as follows:

50 disil &1 {9l o6d & Jcdeh doigedd 5 ol & UsiId X 38 3T IaeAqT A
PR FA & T I@r = | 20 A a1 Id% TIg & IPRA Aol Hr dEar
Ot 3T 18 89 TR o7 -

Bag(3e) ! 2 S M >
No. of seeds

germinate(ﬁ?ﬁ? e @ 40 48 42 39 41
JEA)

What is the probability of germination of :
R 3iRa st B R T Y |
(i) More than 40 seeds in a bag?
(i) T o F 40 ¥ F¥F S
(ii) 49 seeds in a bag?
(i) T ST A7 49 97 |
(iii) More than 35 seeds in a bag?

(iii) T 91 F 35 ¥ ¥+ & |
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OTBA (H&d 916 YA )

THEME 1 : Childhood Obesity in India

Q.29. It is stated that ...
“Children from age 1 onwards grows taller and heavier till they reach

adolescence at a whopping rate of about 2 kg every year for weight and 3
inches for height”.
Assuming weight as variable %’ and height y’ and 1’ as ages in

years, if weight at age 2 is 8 kg and height28 inches. Establish a linear
relationship between

(i) xand t

(i) yand t

“fheiRTaedr ds tlg?l?T W1 a¥ & T i 3IAB U9 AR IR Sl Sl g,
mmw&wzﬁsomomiﬂé3@9ﬁaﬁm%l”a€m§0ﬁm
P X, FATS H Y, IAT 37 A ¢ FEAT F1TF 2 a¥ & gTd HT AR 8 fF.am.

IR Fa5 28 3T & Ux YW@ FEAor Tfua Y

(i) x IR tA
i y3IRtA

Q.30. Taking height 200cm, form a linear equation in two variable taking BMI at x

Q.31.

and weight y kg.

200 Rxﬁ”mﬁﬁﬁg@m%@a:@?mwamuﬁBMlxaammy
fh. 3T, JUT H&T 3o 8 v |
Rama wants to burn 200 kilo calories in a day doing physical activity. She

spend %’ minutes for running and y minutes for running up stairs. Write a
linear equation for the same and draw its graph.

IR Ufshar & TAT 200 el FAX FT 39T Far § 13fe 98 x Beie s
IR y Bete AfETr Feat A ol § o veh ger AWhgeliator =t 3N 3
e o I |
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Q.29.

Q.30.

Q.31.

Theme 2 :Energy Consumption and Electricity Bill

You are from Hariyana. In your house, electricity bill is Rs1500. Write a
linear relationship if total units are x.

3T gRATOT & § 139 &R T Toofell foaf 1500 ¥9F § 158 39 ITQhaeeior
& & A faw I x Fee wAer & a1 g |

Sita has two bed room flat. She installed two fans and four Tube lights in a
flat. She wishes that his monthly consumption of electricity should be 100
units in a month. Establish a linear equation for the same, assuming that he
is using fans for x hrs and tube lights for y hours.(1fan=80watt,1 tube
light=40watt)

T T GlpdA T B § 198 38 a 0¥ 3R IR Y ese oerame aed & |
gg Al ¢ foh Teh A & 100 FfAe fSofell 1 3UANT &1 &1 1 Ueh IWeh otenor
FASU MG Ydsh UET %’ B¢ AT Ydsh YT dge & € 3YANT A #I1™T A1 &l
(1 9@ = 80 dre, 1 fega «se = 40 amw)

Form a linear equations to calculate Domestic Bill for consumption of
electricity less than 200 units for all metro cities.

N@F gHeor A ffGT Ifg FAgETRr A W el @ua 200 IfAe @ &7
37T IS &/
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